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Atel AWM A3 2,988,350 3,400, 100 A411,750
= 1,622,940
2 25,000
& 401,289
= 939, 121
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= 1,117,530
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= 8,426
= 2,528
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= 8,426
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401 Al HI L 2 0HHI 1,911,220 2,779,591 A 868,371
= 955,610
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= 669,761

01 Al& H| 1,844,930 2,650,051 A 805,121
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= 612,401
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o= 14,625
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402 SI2vXHE0| ™ 298,988 80,587 218,401
= 153,494
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— A THOH 2= (15ha) 82,266,000 82,266
15,770
19,949
46,547
—2UR3dx2(16ha) 184,752,000& 184,752
91,416
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65,335
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S FeA
HE: MYXRSHFY
ool METE T4 (el @2)
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
= 1,631
03 A& 2 0HH] 3,717 3,375 342
OXE A 3,717,000& 3,717
AF24TH B of 2 204,722 150,664 54,058
308 XHXI S M SO0l & 204,722 150,664 54,058
05 AXISHH2EE 2 204,722 150,664 54,058
O AL AFSH 204,722
— &FXIAREE (1ha) 7,290,000 7,290
— HE2 2 & (2km) 34,380,000 34,380
— AFEFEH(7OHA) 157,500, 000& 157,500
— AFEFSH 22| (300 &) 1,890,000 1,890
— APEEALS EHEEA THOF(20HA) 724,000 724
— AP EFE A EHOF(TIHA) 2,471,000 2,471
— AR E 2 (1000 A ) 189,000& 189
— AP EHEA (7 A) 278,000& 278
=XHERIAFRASAIYE 2,640,894 2,667,459 N 26,565
2 210,000
& 418,000
iy 2,012,894
MEFH =351 Y AIE 22 (AHAN) 788,934 1,067,014 N 278,080
101 @121 260,085 292,017 N 31,932
04 JIZtHIZ22XNSES 260,085 292,017 N 31,932
OFEFEGINRI ZLEAGX AIZ22] 260,085
—=XHUSH(HHE sXZAY) 31,594
[elals] 102,573& = 1Y = 2802 28,721
524222 102,573& = 19 * 28 2,873
— S X EH S (AP EH) 184,800
ol d| 60,000& = 10 = 280 168,000
s42R2xE 60,000 = 10¥ * 28 16,800
—4EE = 242,241,000& * 0.103 24,951
—CHAEE =2 15,000,000 15,000
— IS (=sX ™) 3,740
OFMZFR (X)), M2 E)
30,000& = 22N E 660
OtN 3L 2¢l 55,000 * 22= 1,210
OFM &S ¢l 85,000& * 22=t 1,870
201 L2 | 90,563 116,014 £ 25,451
01 AtSR 22l b 53,640 63,840 A 10,200
Oget=gH| 9,440
—=SXEH Y HATR (A2 5F, 4500H)
3,040,000& 3,040
—=X&EH Y HHEADIAHS S) 2,100




SN FHAYD
HE: NERALEHSH
@2 sXNHERAIRSAME (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
JIASER 18 = 50,000& = 10CH 500
JIAHSER 138 7Y 20,000& = 204 400
JIASER 137 7,000& * 1004 700
S S MDA el 500,000 * 1CH 500
—ASRUAMA S B0 M 1,300
AMSUBMAL B0t Y oY
80,000& * 2K 160
- LERJHRII AL &2 80,0008 * 104 80
LRPMUSOEI A B4
60,0002 * 14 60
SIHESHXIL QbLy & 20,000& = 504 1,000
—==HZE M2 30,000& = 1004 3,000
SR 3,000
— A2 WA BIHX S AL
6,000& = 5009 3,000
ogxtzs 41,200
—ZAI(£5014, JIgtxHd 5)
500,000& * 10 = 10 5,000
—E2 S(+243, WL 5)
400,000& * 104 = 10 4,000
—S=(x2Z2x5 2F0])
400,000& * 20 = 10K 8,000
— 324 WH)
500,000& * 10 = 10 5,000
— ALY 2lA(2E L FHES)
800,000& * 2CH = 12& 19,200
02 8323l 36,923 52,174 A 15,251
O23223 ¥ HMAl 9,600
—&EI1ZE2xE dIIRe3
400,000 = 12& 4,800
—HEN=X =BHUHISE HIIRS
400,000 ~ 12& 4,800
O ZHl 24,160
—=XN3H AAZ2EH % 24,160
- STHIHA O
1,757& « 104 = 304 =+ 100 5,271
-JIHS, AXS
1,954& = 1000 = 4AI2F = 100 7,816
< OIFDl 1,954 » 100H » 4A12F = 100 7,816
- 271
11,7573 = 100 = 4AI12F = 20 = 50 703
2D 2 ERD
1,954 » 500 * 4A12b » 50 1,954
AR WE 4,000& * 30CH * 5& 600
OXt& & Byl 3,163
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Ha: NN BHSY
@2 sXNHERAIRSAME (&)
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SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
—Ji2 st ZHIXE |RFHH
1,7573 = 204 = 104 = 90 3,163
202 o4dl 9,600 9,600 0
01 2LHO! | 9,600 9,600 0
O=XNZBANY 2=
20,000& = 4% = 10 ~ 123 9,600
206 M= Hl 27,800 58,878 A 31,078
01 =8l 27,800 58,878 A 31,078
OFE&EIRI| Rt 5,400
— X I 90,000& = 104 900
— 8 X I 50,000& = 104 500
DA R 70,000& = 104 700
—XZANES(ZN) g2z
66,0003 » 50 3,300
Otz & ZAAMY 18,900
—X¥42 L 2 YSH
12,000& » 2508 * 33l 9,000
— 2 9 ESEU(MBE)
9,900& = 1,000%& 9,900
Ox== s&J| 2clXtHM 3,500
— =5 iz Z&| 5,000& = 5004 2,500
— Sl &KX HA 2,000& = 5004 1,000
401 AIEBIZ 201 8] 396,086 584,005 A 187,919
01 A& Bl 393,926 584,005 A190,079
OHNB9sl A= A8 ZEd+S 2Y
10,000& = 3,000=2 30,000
OZESHIILEAMX SN2 (IDE2S 6682,
TZAEX 15100, Z22ZE2SH 40km) 313,926
— & Al Z A 300,000,000 * 4.22% * 1.1 13,926
— A&l 300,000,000 * 14 300,000
Otz 2FF2 BEAZA
246,305& * 2032 50,000
03 A& =2 THHI 2,160 0 2,160
OFEE T LAY 2R 2L
300,000,000& * 0.72% 2,160
405 X4 F St 4,800 6,500 A1,700
01 AL EFSHSHI 4,800 6,500 A 1,700
OJlHAs =< 600,000 = 2CH 1,200
OsguxI ¢ 400,000& = 3CH 1,200
O == PNE= 600,000& = 2CH 1,200
Osg 2=l 600,000& « 1CH 600
Osgd &)l 600,000& = 1CH 600
MEZEH =5 U ASEE(BE) 570,000 250,000 320,000
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el

Ze Ay
NEP IRV
=NUEAIRSAY

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 255,000
s 315,000
401 Al HIZ 201 8] 570,000 250,000 320,000
< 255,000
i 315,000
01 A& HI 570,000 250,000 320,000
OdeE = =X32 At=2el 420,000,000 420,000
< 210,000
s 210,000
o4 NTel & AZJAX4H 150,000,000 150,000
< 45,000
i 105,000
HdH=ZH 131,000 132,000 21,000
203 R =&l 1,000 2,000 A1,000
03 A Z=XH R =AY 1,000 2,000 A1,000
OZEFEINRIIANY = 100,000& * 103l 1,000
401 AIEHI L 2 CHYI 130,000 130,000 0
01 A& HI 130,000 130,000 0
OltSEHILE (FFYE)
10,000,000& = 109H £ 100,000
obtsdgdy 2= 1,000,000& * 300H A& 30,000
22 - ES48 =4 386,187 381,940 4,247
101 14 dl 159,987 149,240 10,747
04 JIZHZ2XNESE = 159,987 149,240 10,747
OZY 2348 AEH2 ()
41,680 = 15% = 1202 75,024
OZ2Z 2S¢ A=2g|
41,6803 » 2% * 140158 ~ 60 70,023
OC4liEdg = 145,046,400& * 0.103 14,940
206 M= Hl 7,700 7,700 0
01 =4l 7,700 7,700 0
OBAXZHE BZNRY(RARAL 53)
7,700& * 1,000kg 7,700
303 Z&f 3 3,500 0 3,500
01 243 3,500 0 3,500
OZZL BESH T4 2480 A4S 3,500
—3®= 1,000,000& * 1HS™ 1,000
— 2= 500,000& = 201 ™ 1,000
— & 300,000& = 501 1,500
401 Al HI K 2018 215,000 225,000 A 10,000
01 A& Hl 215,000 225,000 A 10,000
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SN EHAYD
o NUXLHSY
e sAHWERAIARSAY (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
O -H ZAXH(14MSHTHHIH)
10,000,000& * 14015 140,000
OQuUuEsS ZohX A (3MA)
,500,0009 * 500 = 4H & 50,000
Odtzd 5 Z352 WH 250,000 = 1004 25,000
SE2ZHAXN SR =4 244 773 356,505 A 111,732
101 @1 21| 68,960 64,327 4,633
04 JI2tHIZ22XNSEES 68,960 64,327 4,633
OKMEX ArZ= 22| 68,960
— ol d| 41,680 * 30¥ * 50 62,520
—4Eg = 62,520,000 = 0.103 6,440
201 et d| 15,813 13,418 2,395
02 E22%H| 15,813 13,418 2,395
O 24| 15,813
- =X S EMH RFUH
1,757 * 1504 60 ~ 10 15,813
401 AlEHI L £ 0HY| 160,000 160,000 0
01 Al&H| 160,000 160,000 0
O8MeX X4 (60ha) 160,000
—SMME SHINL(SaHUE) AFY
500,000& * 60ha 30,000
—CHX AIEZ2/(HIZ 8l &4ZE)
1,500,000& =* 40ha 60,000
—oX BO, HAANL 2E L Fy|
30,000,000& * 14! 30,000
—CXl SEse XA (A=1,000m)
10,000,000 = 14! 10,000
— X382 stetxEA(A=1,500m)
10,000,000& * 3JH A 30,000
MNYBY=MTATY 420,000 480,000 60,000
2 210,000
& 63,000
= 147,000
401 Al HI L £ 0HHI 420,000 480,000 A 60,000
2 210,000
= 63,000
o 147,000
01 Al& H| 417,116 477,116 A 60,000
OEA=sMZ22 XM (2.0ha) 417,116
— A& 401,737,000 401,737
2 210,000
=} 63,000
= 128,737
— Al Al & A HI 15,379,000& 15,379
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03 Al S THHI 2,884 2,884 0
OZANsMEE =4 2,884,000 2,884
=MItE S2AE 100,000 0 100,000
= 100,000
401 AIEHI L 2 CHEI 100,000 0 100,000
< 100,000
01 A& HI 100,000 0 100,000
Q20144 =T 2 Z2AFE (11 2)
100,000,000 100,000
< 100,000
FeIA=2e 173,703 173,710 AT
A=zt 173,703 173,710 AT
A=HF AA S 169,703 169,710 AT
201 L4l 63,923 63,630 293
01 At 22l 63,923 63,630 293
Oget=&H| 63,923
—H=50t EEXZAL & BANUEY =2
30,000& = 200A 6,000
—ANSSUSEFEIA L AU =2 46,823
1,000m" O 2t 219,000& * 90A 19,710
- 3,000m" O] Gt 365,000& = 40A 14,600
- 5,000m O] gt 512,000& = 10A 5,120
- 5,000m Of & 739,230& = 10A 7,393
—H=SlE o 2285 7¢
300,000& = 23l 600
— A=Y AE 7Y 100,000& * 53 500
— Q- SIJtH &K oiJte & 2tet M
10,000, 000& 10,000
202 oddl 14,780 15,080 A 300
01 2LHO! bl 14,780 15,080 300
OAZHTWAMNS 25
123,160& » 1098 » 128 14,780
203 R =&l 1,000 1,000 0
RS 1,000 1,000 0
OB¥ASSLE U FHHINS Y251
100,000& * 103l 1,000
401 A& HIZ 201 Y] 40,000 40,000 0
01 A& HI 40,000 40,000 0
OUESAE FLAMIH E2A 40,000
—JtAE ¥ FEHEZ FEXZA
30,000,000& 30,000
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